Day 1

Identify whether the following words fit into the Past Tense ( ;};:T / ;LJ) pattern.

Write Y next to the word if it is, and N if it isn’t

lcde N[220k N |3 &) N 4@ Y
508 N |6kl Y |70 N [8.5% N
9. ol Y 10. 36 N [1L.J50 Y 12.35 N
1355 N |14y 15. 6 N |16, 5 Y
17. &1 Y 18. 2wl N |19} N |20 Y
Identify whether the following words fit into the Present Tense ( :}u:: / ;\:{) pattern.
Write Y next to the word if it is, and N if it isn’t
S we S S e 2 P S eroe -
1. Cany N 2. Jdes Y 3. ‘_}..li Y 4. J:ES‘“-{. N
b 4 S er S e b .}
5,04 Y 6. Jaimw N |70 N [8.55 Y
P S mw Sw oS Swol
9. o2 N 10. Oyl N 1.5 N 12.64 N
R - s 2 -
13.8,25 N 14.?:1/.5.1 Y 15. dale N 16. Cfu Y
boo o Py 3 e 35 0.
17. ja5w N 18. o Y 19.(,..\% Y 20. duy N
Identify whether the following words fit into the Masdar (\7\;3\‘ / \:3/&.«\‘) pattern.
Write Y next to the word if it is, and N if it isn’t
Lolel Y 2V N [3NGL Y |4 49 N
500 Y 6ol N [7.Vks N |88y Y




10. 0l Y

1. b N

2 o

14. CM\ N

s 28

15. saalee N

Z -0

17. )lszel N

18. 31 o) Y

19. C)&c}(\ Y

Identify whether the following words fit into the ‘j\:e\; - :}a.: - ;};3? pattern.

If the word fits the pattern, write which form (Past, Present, Masdar) it fits. Write N if it doesn’t fit any

Z -0 A Swold S ok

1. 1,63 Masdar |2.dsles N 3. b N 4., Present
. S S oS s 0% }w/.}

5.0 N 6. Jeu Present |7.,81 Past 8. 54 N
S e P o G M

9. 3WwY! Masdar |10. 3,4 Present |11.Jy N 12. 3,45 N

Sa o oo

13. &2 N

16. }C\;}\g Masdar

S o ~sor

17. ez N

S8 ~

19. G N

20.

Y
,  Present

-

Identify whether the following words fit into the \jl;sl - :}aﬁ:

IS B
%

S8 pattern.

If the word fits the pattern, write which form. If it’s a Fi’l write the inside pronoun. If it’s the Masdar,

give the Status/Number/Gender/Type of the word. Write N if it doesn’t fit any

oSodr § o E Z -
I gde N 2. Jle| Masdar (RSMC) | 3. hlay N 4.3 N
5. @ N 6. LUl Past (o2) |7.2ks N 8.0,54 N
S e N co - § o 0S&
9. 2 a5 Present (Z) | 10.L37 N 11 s N 12,14 & N

3G oo

13. 80 N

-

PRy .
14. u»el.u Present (:»)

S

15. f:.»\hlc N

3o o

16. WJ.:-T Past (L«_;i)

17. Sppiezy N

PP

18. 04w’ Present ((,.a)

19. C}ic;}}\ Masdar (JSMP)

20. \}i\;si Past (VJ&)




The Past Tense for each word is given. Provide the Present Tense, Masdar, and Ism Faa’il.

Repeat each of these OUT LOUD until you are able to say them all fluently

P

14. &l

s 0%

15]3‘

ool Jeb #olan Job ks Jeb o
0 % S e B Z -0 6o 2
L e e Ll s
~ ~0% S oS Z so g o2
2. Jyl Jyo Y15 J e
s 0% b o} Z -0 4 oS
3. sl Ay IsLs] e
0 Py Z o g o2
4. ;I _H | s
sr 0% b %4 Z -0 4 o &
5 &) e el et
» ,08 S b Z ~o g o8
6. &J\ o Ll ke

o

°

G w
\k):'

AN

oS

k4

L 2N
o
o

:

4 .5}
Bro




16. |3

s 0%

17. kel

s - 0%

18. -\qa)\

s 0 %

19. Jus!

s 0%

20. o1

A. For each of the following words, first identify if the word is in Past Tense, Present Tense, Masdar, or

Ism Fad’il form. B. If it isn’t already, take the word back to its original form. C. List whether or not it

matches with the :l.j family.

Y

Ex1. O,\’Ju

a. Ism Faa’il

b. Jake
c. Match

Ex2. ;;L:?J\

a. Masdar

4 o
b. Fu
*

¢. No match

a. Past Tense

a. Past Tense

¢. No match

e

S or0 g . 0 % o o G-
1. & “".\ b.dus 2. f‘;.a.o b._as
c. Match ¢. No match
a. Present Tense a. Present Tense
L :/‘ T /‘ o} 3 o
3. Ml b. e, 4. yo » b.o2
¢. No match ¢. Match
a. Present Tense a. Present Tense
S& o S5 . s owS Sws S
5. & bo&e, 6. olds b
¢. No match ¢. No match
a. Masdar a. Ism Faa’il
Z -0 o Z .0 o s owe S G s
7. 1) bijel) 8. s b L

¢. No match




a. Past Tense

a. Ism Faa’il

of 0% Py G, or0 S G o 0 S
c. Match c. No match
a. Past Tense a. Past Tense
11, Slais) b. Jwis) 12. 3L b. L
¢. No match c. Match
a. Ism Faa’il a. Masdar
- oS G o5 z - Z .
13. 8 e b.G s 14. Y3 b.Y3
c. Match ¢. No match
a. Masdar a. Ism Faa’il
4 o Z o PP Y G Los
15 b b3 s 16. &g i b. e
¢. No match ¢. No match
a. Present Tense a. Masdar
17. &y s b. i 18. o3yl b.LSkol
¢. No match c. Match
a. Past Tense a. Past Tense
s S P P o -
19. 0 3 b.o 3 20. 1sdale b.asle

c. No match

c. No match




Day 3

Convert the following Past Tense Fi'ls into Passive form.

o G cw B e Py s 0 s Sos o0 s S o
1. Jy Jus |2 )6 e T R I VR P
P s of P P P s 0 82 /f“/" /'z}a}
5. 3L Py 6. @LJ goss |7 slas JEY I I R W B R E
~ % - cé s s0- 0 s o os PR 7 swr S sr 07 0 s o) oS
9. ! ol 100 jaanel el |11 a5 e s | 120 8] Sl
PP cw S s 0 s Sos P P PR s o
13. 3,45 G5 |14 Jem) sl |15 50 e |16 201 2l
R - o 8 S P cwl P cw S s 0 s
17 0olas o | 1835 G5 (19 me (205 Gl
s s or 0 - oS o8 » 0% - cé P P ‘e o L W
21 ol el 22580l (23060 s (2400 G
e . bs G sow S R - b R s oS
25. 0wl |26 g 527 ke e |28.36 sp
s ~ 0% - ci P P o s 2 g cw b
29 Aol gl 3008 i [B3LAs a8 (3208 o
v /wé)‘ P v cUg cwl s - 0% - né
3303 osb |34 s 0 [35.55 BE 36. el sl
Py Py P - b s 0 - 2 op o G s owh
37. 55 BE 38. = |39 el anl 1400 s 3
Circle all of the Passive Fi'ls. Then convert all Active Fi'ls to Passive.
- 2 sow B s sr0 s Fos P
1. o 2. gt 3 Jemm) e |4 e
. 2 e s wlh Py - ni P
5.05 6. s 7. J&sl sl 8. gt
Ry w S s sos0 s oS oS PN w2 P
9. S 510 e ezl [1L3L 2o 12, s
“c @ - & P o wp - 0% - né
13. 55 sl |14, G, 15. Je 16, ol ]




cowl PN . et os s 7 0% s oe
17. & 3 18. ai 19, Gomii) . Cemiil | 20,8 21 2 2

P - f - ds - aé - 2o s
21. 2 A |22 Caal 23. 03] 24. (IS

oo P . Sos c G w S cow S
25.08) 23 |26 pass 27 et g |28 8

s oS - - - - P P s S8
29. Js 30 4e8 gt [3Lele Gl |32 Ll

s 0% - né o s 2 ool 0 - 2o s /.oé

o w8 .0k . o o owh P . 2

Convert the following Present Tense Fi'ls into Passive form.

S w S :JG/)‘ }L;:: }/L;j S sor S sl S o - S 0 8
1. 3 2 dE BlE |3 e U P RN
O Sanyd ! g an o an o o o

s B S0 S s S8 S oo S o8 200 S e 08

5.8 gl

#50

-

S oS S 08 )‘.a/a/ }/.e/a/‘ 2 e o R S oo S0l
9.;,,/5...," S, 10.}5,.:,.4 e 1L e s e A 12.}*~ -}
i&/'// i&/./} 2 4 }//:)‘ 2B e Sl 2 :e/ )/:e)‘
13. 8,40 G |14 Jemy Jen 115 p;m pa 160 A0 200
A A Iy }wf} )‘&/.} Swot e 2 ser T
17. f‘at":'f.f"t":'.’. 18. éﬂ Ry 19.@4 y | 20. ary wa
5 oror 5. ool 5 o2 5 ses 530, 5 08 e .. e s
21, Jowd o ot | 220 525 an |23 ky i | 240 s
2 & Sow }&:// }ﬂ:/} 2B e s poe 2 Ea Ea
25. c:.i.i CI.L 26. &1:4" é.«’&.f. 27fi‘>°i fbhf. 28.).)&1 JJL;‘f.
EA S s S )‘);a/ }/.°} }/;‘o/ }f°} S wo S e S
29. Jwp Jem 30455 3L R 32000 O
}f’;// cw S 2 S or w S }w/'/‘ cw S s %4 w S
33. 03 Jp (34 an Jp 3550 Jp |36 cam )
LY S92 S~ So 08 S ser P S wes pas




Circle all of the Passive Fi'ls. Then convert all Active Fi'ls to Passive.

Py 2w s 2 a b S o0 8 S0l
1. doeed 2 5l ety |30 Jeimy 4. uls
-
Sro-s S0l S e b P4 PPNV Py Py
5.6 . 6. = 7 0k e |8 e "
Y, Y, Dt ol N St S8 A
Sa oS 2 oror S s orol S a -l S0 s S0 2
9, S 10, Jowid  bowd [ 11, & ey 12, ok
S G- 2@l S 0S8 S wt S ass 2 0l
13, ey, e |14, 15. Ju  Ju |16
P % O, o % =)
S ow A S a s 2 o008 2 00l 2 oS 2 0l
17. 08 o, |18, iz 19. Canizid 208 5 2 a
Py 2 @ - P S0l S s 0f
21. a2 22. Graty Caan (23005 24, L3S
2B~ S0 b S0 8 S W S wol 3 & o PRI
. . - . - . s o K -
25. V.C«J.i V.C‘J.i 26. S 27. O O 28. JJ"".’- P
PP 2o oo P P S s0 b S0l
29. Jsles 30. Ay a3 el Gl 320 ey
S oS S0l S0l S0l 20l
33. 34. dxas 35. e 36. ydu
S ow A 2@ S 2 el S 02 S a s S oor Py
37. Jas Jan |38 g g 139 aun 40. mowd —




The Past Tense for each word is given. Produce the rest of the family

s 0%

Ex. /Jw\

¢ \
¢

\o—

G o2 Z -0 S o8 My
LoShs] Al

rd 5 rd -
.02 ) Sl -, o%

.02

T ~ %
> 11. e
0%

ss 0% Py
5. o] 15. )
0%
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Day 5

Determine which member of the C}L\; - ;L:{ - :};T family the following words fall into.

Answer choices:

sz (2l Jebo fw\ s folas b ool Jub
o I A e e oo ez polias Job
1,\,\ Dyt Lol 1L E 5 A e
2. S i o 12. 55 Y S
3. 23] ool e 13, uaﬁ: Jes o
4. o obiae Job 14. 5400 A e
5. }C,j Iy polas Jeb 15.;;:% sz 2l Job
6.z Y 5 16. Lie i o
7. 523 e o 17. W3] o
8. S Jeb 18. 15L)) .
0. L1 las 19. 1ok i o
10. oy Use oliae 4o 20. Li) S




Each word is a Fi'l in ‘/j (Command) form. Write the pronoun inside each word. If the word is not

already in the original (:’j) form, write the original form of the word, otherwise write NJA

Pronoun Original Pronoun Original
ExI. u'\“‘ o ru Ex2. \ ] N/A
1. \J«,\ L] J«,\ 1. st\ ol W
2. \jﬁ\ o )53 12. u;w\ ol il
3. oLl et Ll 13. L2l Lezs] oo
4. bl o bl 14. 555 et S
5. | )w\ et cM\ 15, };Z’T ] N/A
6. CJ}\ =i N/A 16. uu\ ol JJ‘
7, f\ Loz df\ 17. \;,/\ZT r;;T V.L;\
8. \/gﬁ L] ,Q\ 18. ,\@\ o N/A
9. 15 o : S50 19 loss] a3l
10. el o N/A 20. 541 ] byl

-

Each word is a Fi'l in 45 (Forbidding) form. Write the pronoun inside each word. If the word is not

already in the original () form, write the original form of the word, otherwise write NJA

T\

o

Pronoun Original Pronoun Original
o/: - ° n{ - ° o/: - s e
Exl. Y <l Y Ex2. r“ Y <l N/A
s 00 b - w c oo b - s 0r s c o o/t
1. O poes Y o] o5 Y 11 ks Y Lot S Y




oS4 I3 o of - s 0 02 - w e o of -~
2. sy o Jys Y 12.‘;,2.2,3“}/ o) GRS
b o4 I3 ot - o oF - s e
3. gty Y V.:J\ oY 13. 2o s Y <! N/A
IS I e o o8 . s oS . o oS .

° o S - s & o of s &
6 Cfu"y o N/A 16.&}.;?5‘9 < N/A
o o s & S A c o of -
7.8x Y < N/A 17, s Y < N
Y ¢ o oS - DS ¢ o o b -
8. 155 Y Lo 5 18. 1wy Y Lo doo 5 N
oS - c oS - - oS - I3 ° oS
9.%/4.7‘:! ;:,;\ WY 19. 3&:7,\:‘& Less! J;t.c‘y
S w . S B . o oS
10. w5 Y o e Y 20. g Y o=l Opes Y

For the following roots, the entire family is provided. Write the translation of each member of the family.

Example: To Submit

§ o2 7 5 o P
/ sl w o
Submitter Submission He submits He submitted
G0 2 2 -0 508 . ot
LSt e L]
[Thing that is] Submitted Submission It is submitted It was submitted

G028 o of - o o
JNRN] Lo
- -

Time/Place of Submission Don’t Submit! Submit!

——m




1) To Expel (Make someone/something leave)

§ o Z o b o S s 0%
s b ] s
Expeller Expulsion He expels He expelled
6., 0 8 Z ~o S0 S P i
o~ 1) S !
Expelled Expulsion He is expelled He was expelled
. 0 2 ° o b - o o%
o P !
Time/Place of Expuslion Don’t expel! Expel!
2) To Drown ( someone)
§ o5 z ° Py s o%
S e 672 3 G5
Drowner Drowning He drowns He drowned
G025 z ° S8 P i,
B xe t] ‘//9\5 S & R) ‘//9\
Drowned Drowning He is drowned He was drowned
6,05 o of - o o%
G e S Y S
Time/Place of drowning Don’t drown! Drown!
3) To Reveal
g o 7z ~o S oS a3
J oo iz J o J !
Revealer Revelation He reveals He revealed
G o8 7z so S 0l - oi
J e NIz o J 5
Revealed Revelation It is revealed It was revealed
4 o5 o & o of
Je s Y |
Time/Place of revelation Don’t reveal! Reveal!




4) To Spend

4 o8 Z o P o 0%
.y L) 320 4!
Spender Spending He spends He spent
G 08 Z -0 P - aé
ny 63| nY 34
Spent Spending It is spent It was spent
o8 o & - o of
s Gax N 4!
Time/Place of spending Don’t spend! Spend!
5) To Warn
500)‘ 7/.0 }.o} //.c’;
e b\—\;l B JJJ\
Warner Warning He warns He warned
51@)‘ z 70 )/.a) /.oi
e b\.’\;‘; B )u\;\
Warned Warning He is warned He was warned
4 /.e} ° 0 S ° .ai
B P Y ‘)J}\
Time/Place of warning Don’t warn! Warn!
6) To Accept
4 o Z -0 S8 s 0%
J= I J4 3!
Accepter Accepting He accepts He accepted
G028 Z o P - né
i N e 41
Accepted Accepting It is accepted It was accepted
G028 o o - o o%
Time/Place of accepting Don’t accept! Accept!




7 ) To Deny/Reject

4 o5 Z -0 S ok 0%
. \J .‘ . , .‘
Rejecter Rejection He rejects He rejected
G, o8 Z -0 S0l - aé
LS| o Sl
Rejected Rejection He is rejected He was rejected
6. o5 o of - o o
: bl k<
Time/Place of rejection Don’t reject! Reject!
8) To Inform/Notify
P P4 . s 0 3 P Y3
Lo Ll o L)
Informer Informing He informs He informed
2/ P4 y s 0 :,/ P . Qé
L L) Lo sl
[One being| Informed Informing He is [being] informed He was informed
g/o s oS - 3
Time/Place of informing Don’t inform! Inform!
9) To Admit (Make someone/something enter)
4 o b Z - o P P4 s - 0%
e ‘:/L’-;\i J,.\, J&s!
Admitter Admission He admits He admitted
& . o2 Z - o P - né
Jode Y] Je Jss!
Admitted Admission He is admitted He was admitted
8. o2 ° ot - ° oz
Jo e Jes Y J&s!
Time/Place of admission Don’t admit! Admit!




10) To Show
o Gk, b K
Shower Showing He shows He showed
G0 7 o So08 Y
e LL‘>)\9\g O O{c\
Showed Showing He is showed He was showed

G058

Time/Place of showing

o of -~
s Y
-

Don’t show!

—

Show!




